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KOSEN KMUTT

Unique Competency

Automation Engineering

@

Manpower will serve the digital transformation
in both industry and society.

2
Strong Innovative
Physical = ./ - |
Science | [,

Tentative

Bio Engineering

Manpower will serve to bio-industry growth,
especially the Japanese fermentation and food
industry in Thailand.

System Thinking | Critical Thinking | Mechanic Skill
Modelling | Process | Interpretation
Imagination | Metaphor |
Design Thinking

Tentative

Agri-Engineering

Manpower will serve to smart farming
World Economic Forum future skill report | development for the bio and food industry.
1th century skill | KOSEN Model Core Curriculum |

KMUTT Student Quality Framework | ABET
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o 3 Find the following limit:

Not yet ) 1 !

answered lim <_ + 1) -
t—oo \ 3t

Marked out of
1.00

Vv Unseannu

£ uilasnn

Question 4 Factorize the following expression:

Answer saved

x* = 2x?% — 8 =|(x-2)*(x+2)*(x*2+2)
Marked out of

1.00
Your last answer was interpreted as follows:
" Flag
question
£ Edit
question The variables found in your answer were: [ x]

Check

(x—2) (x+2) (x> +2)



Limit
&/ Limits of sequences

&/ Limit Series

&/ Limit of function

Derivative

» KOGS151 - 18 assignment, 3 test

&/ Rate of Change, Derivative

; &/ Product rule & Quotient rule

* KOSZ31 = 17 a881gnment, 2 teSt & Application Derivative 1

&/ Chain Rule

&/ Natural Logarithm and its derivatives
o/ Derivatives of Exponential

&/ Derivative of Trigonometry

f Inverse Trigonometric function

o/ Test: Derivative

&/ ReTest: Derivative
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Tidy ques|

Find the derivative function of (-3 x - l_) (5 X +4x )

Don't expand the question. You have to factorize the answer if possible.

UFR R

+ Assignment - 3~10 questions

* Test - 15~20 questions
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- sin(x), In(x), exp(x), sqrt(x)
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2. special constants
o T = 4pi
e c—> e, je

et —>1i, %i
3. functions

e sinz = sin(x)

'7 — asin(x)

e arcsinz.sin
e e¥ = exp(x), e "X

e log, z,Inx = log(x)

e log, z,= log(x)/log(2) (by Change-of-Base formula)
e V2 = sqrt(2), 2°(1/2)

o V2 = 27(1/3)
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CAUTION

When you input the expression 2z, you have to input“2+x".
“2x"” isn’'t recognized correctly by the system
When you want to input the expression (z — 2)(z — 3), you must type “(x-2)*(x-3)".

Dont forget the multiple symbol “#".

2
1+2/3%5 18 recognized as 1 + 3 X 9.

1+ 2
3

(1+2) /35 is recognized as X D.

142
I3 x5H

(1+2)/(3%5) is recognized as
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1 Web/\NTRAMZESBEAEPRP>TWEXRULEEN?
Did you do the quizzes on Moodle regularly?

aFRIEBA LT TV
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a7 AMRIICELHTLEG
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Thai

Japan

0% 20% 40% 60% 80% 100%

Always Never
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2 MREOHZE[FEIATLLLM?
How do you feel the difficulty of the questions?
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Thai

Japan

0% 20% 40% 60% 80% 100%

Difficult Easy
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3 HREOD=EHTLEN?
How do you feel the amount of the questions?
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Japan

0% 20% 40% 60% 80% 100%

Difficult Easy
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About input of expressions
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Japan
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Difficult Easy
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6 AAFEDLIS LG > T
Select all that you didn't understand how to input or you
made many mistakes
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What do you think the merit of Web quiz?
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11 Web /NT R N DREZSER T TARLULWTI A ?
Do you want to take the web quiz in the future?
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12 PHTHESWVWCWERIE?
Why do you hate the Web quiz?
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H HECID (positive)

| think it's okay for practice because it can do many times, even it
was some mistakes | can do it again.

| would like to have some advice on how to write what kind of
symbols, what to write for them to understand together first.

| think moodle is a good system for studying math. What i like the
most is seeing the answer after the exam.l think this moodle is
convenient to do it it can do any time and didn't have to write like
an assignment but sometimes | forget how to write it like square
root or symbols.

Moodle is an okay web for quizzes so | think you should continue
using Moodle but explain at the start how to input special values
such as pi,infinity etc.

| think model is important for me because sometimes | don't
understand lessons in class clearly.]| do moodle and | understand
more clearly.



H HECD (negative)

Should reduce the number of exams and the complexity of typing

answers to questions.

| wanna see more feedback. sometimes | don't really know where
that | have mistakes.

It a little bit hard to write an answer on moodle

| want the number of exams to be less.

Some are just outright brutal in difficulty.
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